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83 39NT FTSadE0 TENW / wmerss TBeYINVR Ty eOYNTRY VeBSRNTI. ©NPY TORE

eUZ0HTY @0k AT B evZTBE L2008 (OMR) ¢ oot esodjoday a8y / Qe

2300° 5R0W0EF BTV BeEt SR0.

Four choices are given for each of the questionsgncomplete statements. Choose
the correct answer and shade the correct choice ithe OMR given to you with
blue / black ball point pen. 40%x 1 =40

81l. B3abmy evEmaing 0deods BoRARA BB ITRURBLVADE TGS
A. s3pee® oetdod B. ARSI
C. 3033 D. 500908

The device designed to convert energy into usefoiechanical motion is
A. Voltmeter B. Generator
C. Solar Cell D. Engine



P-01 mcQ Mp
82. 6 X 2 53008 2wl 0NEO P

A. 6 33rRERy RBeodm) ©EoQ 6 WENW WS WEH

B. 6 wzriem) Reotc) @moe 2 wnth os R

C. 6 e35nv) Beoda) ©mog 1 38 wos eiF

D. 6 wgnws) Seodm) oo 4 w¥Ene weos w@Ened

6 x 2 drive chassis vehicle means

A. Consists of 6 wheels out of which 6 wheelstaeedriving wheels
B. Consists of 6 wheels out of which 2 wheelstaeedriving wheels
C. Consists of 6 wheels out of which 1 wheel isiging wheel

D. Consists of 6 wheels out of which 4 wheelsthesdriving wheels

83. e Ba® B0V wEHRF B FBTHIE LIS FWAE WesH ©0s3

A. DT TS Bt B. 230¢0f
C. 358 D. 803)30° 3635060
& ® )

Distance travelled by the piston in moving from tp dead centre to the
bottom dead centre is

A. Piston displacement B. Bore

C. Stroke D. Clearance volume

84. I3Ars SopRrme desedsd LVeT0
A. gEEitay B. aexs
C. B8pedan0 3o D. ssocdesy 3o

An example of natural lubricant is
A. Graphite

B. Grease

C. Petroleum oil

D. Commercial oil

Automobile 88KE P1 QP 2
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85. xoun® 3y SeRadetloss GFEY [RS gers

A. soe0e3e8308 B. 59,05 Do
C. gadmeragis® D. &%=°

The part placed between the engine and the radiatas
A. Carburetor B. Crank shaft
C. Thermostat D. Piston

86. BpFoo® Dogt evZsHEeN F0DFASFERTL B 3PF0E VBB LdeTeriITITd
A. 3883 rofieds @sd
B. Zey) tmeme” o3
C. 308 o5 ReocHEBoenr wBBEE o0 FRE03ATIE
D. wos8emns wmsdecenmdsees)

The following requirements expected for efficientdischarge of a propeller
shaft is

A. Lesser fatigue life

B. High torsinal strength

C. Reduced thrust load under less torque

D. Dynamically imbalanced

87. ToeStesEoe) &R goen’#e.g S000gRNES €58 ©F esf) evstadeeNTOss K ededs OF
A. ssctrcenale® O
B. o00b&r ek esd b
C. 03z dohés® O3
D. ecogsye® O

The type of stub axle generally used for front ae of tractors is
A. Reversed lamoine type B. Elliot type
C. Reversed Elliot type D. Lamoine type

Automobile 88KE P1 QP 3
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88. ooiREm eveomsy wd) SRR

To5® &0B) ALDE P Aredon® e0f : SRS 800 FOF : : &OFET VY BeeTPS S

Qedor® o’ ¢
A. ee03T8 5@@&) 5o0° B. & 407
C. Boztee ofeF - 4 D. geewte — FS16 C &3¢

Choose the correct answer

Rack and pinion type steering gear : Maruthi 800 :: worm and roller type
steering gear :
A. Premier Padmini Car B. Tata 407

C. Tempo excel - 4 D. Ford FS 16 C truck

89. 28nis BINFY o RordoRade BepN eVBHRNRYRS 3eotHe D

A. chomess 233eF rect
B. m0c0¢ e3s3e® 3eo
C. 30 233X 3ot

D. Sece® r3eof

The type of gears are widely used for final drivés
A. Round bevel gears

B. Spiral gears

C. Straight bevel gears

D. Hypoid gears

90. B 365" TedtRn STy VDY e (Foensod) erHTE B[Ry oerd T30

A. 28300 B. o300
C. BHor® D. 2PQor®

Tendency of a vehicle to dive in its front on apptation of brake is called
A. Bottoming B. Yawing

C. Dipping D. Bouncing
Automobile 88KE P1 QP 4
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9]. 8aefsa® LoHosT 2,000 eRBRO JD

A. DOFO® T3 TOBTeY) MEPODR), BEFE FOOTITT GVPRZRRTT.

B. &050° &3 380 medobay Be0H DRTS.

C. 80870 £0005R%0 ¢5e05eATTE.

D. SDOFO° T3 TOBC TRV, BFE TV YVPABRRIHDY

The advantage of tubeless tyre among the followinig it
A. Retained air for a long period even after bengctured
B. Released the air immediately after being pwectu

C. Tubeless types are heavier

D. It does not retains air for a long period afienctured

92. oG, spedes® w3 ARTRT SR B0E SV BT
A W=V +]| B.W=

C.W=VI D.W=

=< =%

The formula expressed by the relationships betweepower, voltage and

current is

2
AW=V+] B.w=‘E
C.W =Vl D.W:¥

93. oogod Bed TBS wPON BRBwW WOBIR Jeodh VR BT [EHY
A. Zzt S&e B. 3z S&*
C. 3ot f° D. de5° &0

The lighting system helps the driver to drive thesehicle at night is
A. Side light B. Head light
C. Rear light D. Break light

Automobile 88KE P1 QP 5
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94, [Bet TREH0E e JBOS SRRTIS

A. 8o B. &5

C. Reesd D. esexn@odobo

The Mallet hammer is made of
A. Iron B. Wood
C. Steel D. Aluminium

95. 200Ect 5500 Coggneay, Bedohen WERIES TGS
A. o008 B. s30es
C.3e° D. ef 20&®

The tool used to create cylindrical holes are

A. Pliers B. Punch
C. Snips D. Drill bit
96. ST S0 DG Bwarie ST wdaben eVHBRARE SVEET
A. Ree® deeod B. a%éﬁews
C. s90a30° D. & pedetdos

The tool used to measure the distance between tvapposing sides of an

object
A. Steel ruler B. Screw gauge
C. Calipers D. Hydrometer

97. FREeoetiotEIs T &Ry
A. Tz B. 3= Rreedato
C.ea o8 D. s3&3pee®
The liquid material present in hydrometer is

A. Mercury B. Liquid sodium
C. Kerosene D. Petrol

Automobile 88KE P1 QP 6
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98. dassen wBerek sH3) SEENOH o B Sy deEn wERRHE DR eVeEEs

A. &os368 Soes® B. &os%e Soesd

C. g, Dee® s0ey0e D. =g, @00

A special tool used to precisely apply a speciftorque to a fastener such as a
nut and bolt is

A. Tappet wrench B. Torque wrench
C. Flywheel puller D. Screw driver

99. BrEREEs oS evasadens
A. 208 08y Boeed FR0ERPR evsBadeeATeRrIBE
B. 8053 sommes, 3@ SnEe
C. 8055 ooéienesy 38 sS1Een
D. soaserSriee) 500° s0sriee) evsdeenReerdsa

The use of pneumatic wrench is
A. Accuracy and easy operations
B. Minimizing the tyre vibration
C. Minimizing the tyre bounce

D. Car washes in industries

100. ecire $&38nesy HB00R &3 SRBSRHII
A. zaoor® sBesso’ B
C. &=gy Bessod D. &z =88
Windows of the cars is cleaned by
A. Drawing paper
B. Plastic paper

C. Tissue paper

D. News paper

Automobile 88KE P1 QP 7
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101. g0t o sHETDY Wdahen 2P eVEEsn

A. ec0e® o8 B. &e5°

C. esoe® @ of gt D. 03

The tool used to check the oil level in the engins
A. Ol filter B. Dipstick
C. Oil drain plug D. Funnel

102. 58= o’ $O0° Y, D) 3Bee eIo® WO T80 20TLROWKLIET?

A. 45000 &.8e. B. 30000 &.&ve.
C. 50000 &.&ve. D. 70000 &.&e.

Car air filter should be replaced after how many klo meters travelled?
A. 45000 Km B. 30000 Km

C. 50000 Km D. 70000 Km

103. 0z 2058 (FReF) HO0F BSRVT BSBBBEY

A. Be- et B. ey mgmeriso
C.=g, @5, D. &8 $e08

This tools should not be required for the changingf fuel filter is

A. New filter B. Safety glasses
C. Screw driver D. Air filter

104. smns 8eS080m), 2,000 2700 2ECRoR 23e5eNtIID
A. S SES el et ] B. ooz SRENOR e
C.me;g SRENOR e D. o SREO3RE

Vehicle coolant should be changed at every once in
A. Three years B. Two years

C. Four years D. Five years

Automobile 88KE P1 QP 8
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105. ems Jesdad e30a0ERE €908
A. memss wowe B. soxss Qe3ea00

C. 30058 om0 D. o= evesEm)y 89mded

The most important aspects of customer service is

A. Customer support B. Disposal of a vehicle

C. Trouble Shooting D. Know your products
106. 19783 e=eabg ABS ssgabsy Set) Sem0r evsdis ot

A. S8 - 800 B. s0dr&as 230036
C. 8303068 a3t D. Bwowe
The first cars to be install ABS system on produabn of cars in 1978 is

A. Maruthi - 800 B. Mercedes - benz
C. Toyota avalon D. Honda

107. 3¢ 508 5o8e%r T3edos SERPaday Secen DueirtePaisest

A. 30° B0 B. 800w 3030
C. 503 &°0s30 3588 Seetr0d D. 3285 230236

The first keyless entry system in car was designdxy

A. Chrysler Company B. Honda Company
C. Corvette general motors D. Mercedes - benz

108. sor Spms SRres) HROEBRRS wES
A 3oes® 3P B. 50009
C.ge0 D. e3mes
~

The device used holding the work operation materias
A. Bench vice B. Pliers

C. Files D. Chisel

Automobile 88KE P1 QP 9



P-01 mMcQ mMp

109. Sx33® B8N0 FeodE DeSrdorves eVEsE0ed

A. &oz3¢° Soe3t B. &35 Soes®

C. g, Dee® 0ey0e D. Sa@smneds® Soesd
The tool operated by electricity is
A. Tappet wrench B. Torque wrench

C. Flywheel puller D. Pneumatic wrench

110. &0° $eo° @) oo wesers eVssEsn

A. Ts® BoE3T0S B. 208 =g @308
C. %0, 8508 b3 2ol D. 500% 2503¢

The tools required for the changing of air filter

A. Plastic container B. Phillips screwdriver

C. Paper, towel and cloth D. Car jack

111. o¢ &ea)sos @.‘J?\S.?=l 50033 53%3(1@'0'&'3@:6‘5
A. dedd B. o8 23ea30e

C. o3 D. come0ds

Air filter is cleaned by

A. Water B. Air blower
C. Qil D. Chemical
112. 583038 ayoded 08 s0e)E00n Q0ESE
A. w33 3asb0Rrsss B. 50553 w3@msy Bz
C. w3383, "e0Den=BS D. sosmess) By

In a vehicle clogged filter is
A. Reduces fuel pressure B. Increases the fuskpre

C. Equals the fuels pressure D. Increases thaduowlerature

Automobile 88KE P1 QP 10
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113. dermnesy #8080 e wmnvs) oF odaied rabeo evsdedrEs evEmsdn
A. sE08 B. mo00® wodes®
) ~
C. o389 D. ¢
N

The tool used for cutting shearing and chipping ometals is

A. Hammers B. Hand hacksaw
C. Chisel D. Snips

114. e8es Seoa’ FBontsy evemideenrs et wBess OF
A. 2OahEs Zest esgesd B. 60 dohest O
C. ooy O D. osSz9em® ep@Elyo® O

The type of stub axle used in Ashoka Leyland Vickig
A. Elliot stub axle B. Reverse Elliot type
C. Lamoine type D. Riversed lamoine type
115. S’ zopt mogEsy o) SRS IS S IWAS Se0res  ©oSHsy
SOned L0
A. 330D s
B. 20030 &2 esesed deesniwd
C. osng; s St

D. 98088 so0be de3r3m08t0es Joeseonesons

The size selection of propeller shaft does not depds on the following basic
parameters

A. Power source

B. Continuous true running angles

C. Undesired service life

D. Continuous operating torque

Automobile 88KE P1 QP 11
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116. gedor® sgad gen adeRym?

A. Bdeer mo&® B. 230 =873
C. 008 380r® D. 23etor® 86

Which is the part of the cooling system?

A. Thermostat B. Slide hammer

C. Rubber coupling D. Bearing cup
117. &8 < Sospsrme Jeve0ss evcsesoss

A. mps3&s B. eendndodbo

C.apedne o8 D. Rree® Zgen

An example for semi-solid lubricant is
A. Graphite B. Aluminium
C. Animal oll D. Soapstone

118. oot FOSTONTT), 50TVEITES adeeyEse s3VIVTS Seee3503IE308 . Brdodes g

A. dczg08ead FPeos B. e8or® &3
C. b0 s33 D. =350° =38

To restrict road vibrations from being transmitted to the various
components of the vehicle is the principle of
A. Electromatic induction B. Breaking system

C. Cooling system D. Suspension system
119. %S5 @020t 90 QFSRTNT

A. decosses B. &xye® wees

C. Qe D. S cesdme
“Ohm” is the unit of

A. Electric charge B. Electric current

C. Resistance D. Electric power

Automobile 88KE P1 QP 12
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120. 50053 50280® o wESecRIETR FOODY, S8 0e8 DQTLIeB)

A. 90° IO 03 e’ 23w Tl

B. 5023 woome 48 b3y wedron® e G

C. g020® IH3 sy Tedron® 23w St

D. 50we® emome 38 wh3) weseon® Pt TS

While changing the engine oil of a car, car is p&ed at
A. Engine off and parking brake on
B. Engine on and parking brake off
C. Engine off and parking brake off

D. Engine on and parking brake on

Automobile 88KE P1 QP 13
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